Af1 3 & L A 30 F

BHIES#EE &R

A fE O BRTHETHTHEG6 4 0FH
& R 4  AAREXRAHRTHEIEAMN
£ #F RHEE
REFEE  HAEEE

Sm2FE [2 - 3A%)] BHEBHRNHEE

AMHRRBHEEROZCET 2 56BIHETRE IR ESE JIO LBY w2
FE [2 - 3] BEEHEICHEEZRELET,




SF2EE [2 - 3 AR] BHEHENHREE

YRk BALER BT HEREEH
A 1, 300,006 M
(BT : [)
I B #H ] =
B TEENE 1, 300, 000
TE&FF 6
= L 1, 300, 006
x H 1,278,517 M
(E47 - )
H B 4 1% Z
FEE 41, 084
HER 6, 400
JRERE 0
Nt 3, 682
i - BEEHE 0
SHE 0
EEHERE 0
ERHEAR 95, 899
NS¢ 317, 066
EBTE 1, 287
=EBE 813, 099
= &t 1, 278, 517
% H 21,489 M




